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OEd= this= 4,000,000 1 4,000
308 AtAIEHMSOIE 8,344 8,344
1 SISt AS A 8,344 8,344
ODBANIYIILT FBAAY XX 223
8,344,000 1 8,344
St SAe =023 &K 299,547 294,997 4,550
Al 10,000
- 289,547
=U=s gdat XA 299,547 294,997 4,550
Al 10,000
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SN HPTAD
M IR D18 25t
ol gl SAe 282s SN EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OXsgHeas st At
6,500,000 14 6,500
O Y MER5 HAAY
3,500,000 14 3,500
OLIZ0 40Pt REH D] Al
3,000,000& 14 3,000
03 QIRIEXHE2HHIB X 79,600 74,800 4,800
OMOIZ2S = #E2gy 22X
37,200,000 14 37,200
OHI2HAIISE ZX HHSAY X
22,300,000& 1 22,300
ONPEAY T HE2AY| BE
20,100,000 1A 20,100
04 CIZIHAIAIRIE X 9,690 9,690 0
OMOt228 XNEX =33l
7,800,000& 14 7,800
OHIZAHAI |2 A& =EHU2
1,890,000& =14 1,890
NHSA 283 DBty 344,231 353,022 A8, 791
= 32,420
Al 55,400
- 256,411
N SAHEHZ2E 8435t 344,231 353,022 A8, 791
= 32,420
Al 55,400
- 256,411
NRASAHAE D81 167,891 169,682 A1,791
301 LBENF 14,919 22,064 AT,145
10 AISIESRRRJ_EAZ 14,919 22,064 AT,145
O SANLEREX AMSERREA 14,919
osz2(ga) 1,000,000 * 1+ 12& 12,000
OzAll 7,000 =222 * 1B+ 122 1,848
Oun&Et| 2,800 22U« 1H*12& 740
O1ul=t| 330,720&x1H 331
307 212+01 A 152,972 144,922 8,050
03 DIRICHH BN 2T B X 152,972 144,922 8,050
OLTARAZMUE 2|
152,972,000 *1J1 2 152,972
HESAH 23 AFY 111,500 121,400 A9,900
Al 55,400
- 56,100
307 gIzHol ™ 111,500 121,400 A9,900
Al 55,400
- 56,100
02 QB AAIEER 111,500 121,400 29,900




A SEXRAD
A A2SAH 2435t Dt s
Cel: NSAHEH2E 243t (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OXESA 43t AIZALS
100,800,000 14 100,800
Al 55,400
- 45,400
OXASA 243 AMAI
10,700,000 =14 10,700
N2ASAF 2CIHI0IE XI1& 64,840 61,940 2,900
= 32,420
- 32,420
307 212+01 A 64,840 61,940 2,900
= 32,420
- 32,420
02 QIZHBAAIEE R 64,840 61,940 2,900
OX=Z2AF ZLIUIOIE X
64,840,000& * 1 64,840
= 32,420
- 32,420
SN & A2 EF 29,210 29,210 0
AN S AR2H EE 29,210 29,210 0
S50 nEgHe =& 29,210 29,210 0
201 LB-2AY| 23,000 23,000 0
01 AR2teld| 8,000 8,000 0
Og 2| 8,000
Oz L2423 2 T2z
500,000& =12 6,000
OLZ&a Aldsdz
1,000,000 *23| 2,000
03 AL2ZH| 15,000 15,000 0
O Atste =33l 300,000& =50 15,000
203 HRF&lY| 4,050 4,050
03 Al FAIH R FAIH| 4,050 4,050
OHMuE L A4S HAHRFA
4,500,000&*1H+0.9 4,050
204 AP AY| 2,160 2,160 0
03 SEH2ZH| 2,160 2,160 0
O3RN B R 60,0002 x3*12& 2,160
gotsd J|et= 13,000 13,000 0
Hotsd S =t 13,000 13,000 0
SUSSAIE XA 13,000 13,000 0
307 QIZt01 A 13,000 13,000 0
02 QIZHBAAIEER 13,000 13,000 0
OLI=ESXZ32 trEFEas S|
BIE A A 10,000,000 =14 10,000
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2A:

SHE X2 0t

B HSlEY J|URE
el Eotse SZU (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
oglRtSLESAIY K&
3,000,000&*1& 3,000
ASote HAgs Aet 6,620 6,320 300
SSUR/AEHM 2= 6,620 6,320 300
HERE =& 6,620 6,320 300
201 Zet2& ] 6,620 6,320 300
01 AtR2telb] 6,620 6,320 300
OHlE+d E2= MH 620
(OFSi=, 30&#2,0000H+22] 120
OREY B4 M
50,0003 201 24 +25]%2.5 500
o=l 6,000
OHIERE SHEIA Sad(agd &
FAH2RA) 8,000 x50 #3A!+5& 6,000
HH2LZH(AFXAD) 40,621,806 39,032,558 1,589,248
QA2 HH|(HAXIRA L) 14,907,326 12,973,022 1,934,304
lbala] 14,907,326 12,973,022 1,934,304
101 @124H| 1,168,106 1,146,769 21,337
01 2 526,160 504,109 22,051
OguE A== 50,000,000 +6H 300,000
OAteI22+E 226,160
Ob= 12,3213 x3bA1 20« 123 46,574
Ors 11,1303 #35A1 2+ 18F « 122 84,143
O8= 9,992 x3BA| 25123 20,984
0% 9, 1602 +3BAIZH 1B+ 123 3,848
O8I XA 30,956
oM =X
11,1302 *110AI 2Hx 1+ 123 14,692
O M £=HH| Al
12,3213 *110A1 2H+ 12+ 123 16,264
o=2d8¥
(12,3212 *110AI 2t 12 %122 )+(11, 1302110
AlRE1Ex128) 30,956
(@FSEY Falsll 217,457 , 2003 *4% 8,699
02 JIet& 2= 353,208 324,79%6 28,412
OAIZHAERRIZDIHI(2HS) 107,376
@Jul=pl 42,486,930 »2H 14 84,974
OAteI22+E
9,992 x3bA| 2H2EH+ 123 8,3%
OXMSIH&HI (39,339, 750& 2% ) *4% 3,148
OZN=AI 140,000& x2&+ 123 3,360
OLEEEZE ANENRES
96,727, 1402 0. %% 871
OS2 (ANZHET =)
2,906,500 *84%*40/35+5%+2H + 122 3,349
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2A:

3 %Q—E—%%M(%‘@II%BH
Cel: QI HHI(HAXIJ L) (S+9: &2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O9Jt2 &l
2,906, 5002 +84%+86%+1/30%1/7+140 Al 2H2H
2,800
OE=g 480
JIERHE 20,0008 x2& * 122 480
o¥AZH 86,298
Od1tati= 5,790,000& »1& 5,790
O==(15401gt, 358)
1,816,000 x105%+ 1 » 122 22,882
O==2(15E018, 588)
1,993,000 x105%+ 12 = 123 25,112
od2=+g 68,562,000& 1/ 12& 5,714
OAIZRZ 25 8,000
o3 9,523 x3bA 22 * 123 8,000
OIrE+e 480
HH < K¢ 40,0003 x1H 122 480
(OESSEas) 30,000 x1&* 122 360
(OFSR= ]l 140,000 x2&* 122 3,360
(OFS= )N 155,000 x2&* 122 3,720
Og&=Itdl
68,562,000 * 1/ 123 »60%*23] 6,857
O%Jt2 &l 2,185
At 4|
1,816,000 12 86%+1/30+202! 1,042
A2 2|
1,993, 0002 * 12 »86%+1/30+20 1,143
OLEEEE ANENRES
105,024,820 *1.75% 1,838
o72(LIINSRE) 67,267
oS 56,563,960 *1&+14 56,564
OAlRAZ 25
11, 1302 *3BAI 2+ 1H 122 4,675
OX I &H| 60,687,960 *4% 2,428
OJE+E 1,920
i< Kt 40,0003 ~1~122 480
JIEHE 20,0002 *x28 x 122 480
NE 80,000 * 122 960
OEHZAH| 140,0002« 12+ 123 1,680
OFHME A2 (H2AIIHM) 92,267
O3S 70,317, 0203 1 x14 70,318
OAlRAZ 2
14,4463 x110A1 2t 1H 12 19,069
OJExE 1,200
- BH A 40,0003~ 1 ~122 480
IE 60,0003 1 * 128 720
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SN SETRD
3 2SZHI(HE X2 W)
=Sk 2HI(EZX2A) (CHe: )
M- B SRASH) - HRAR - B2 of v e HIDE2
OdHZAH| 140,0008« 1+ 123 1,680
03 SRH(RINHA) 222+ 288,738 317,864 N29,126
OR&d HINGR(RREFY) 45,746
OoJlzs 2,101,000~ 128 25,212
SV 2,101,000 240% 5,043
OAlRIeIRR4Y
13,308 *1.5+30A1 2t* 12 7,187
OFHZAHI 140,0002x 1+ 122 1,680
OuEExH| 120,000 x 18+ 122 1,440
OEE=It| 2,101,000 *120% 2,522
Ogxtsi22sg
13,3083 *8A| 2H+25 2,662
OFAE A elgai| AIFY 34,617
OoJlzs 1,786,000 128 21,432
o= 1,786,000 x240% 4,287
OAIZIRIRR g
11,4993 %1.5x10A1 2+ 122 2,070
OFHZAHI 140,0002x 1+ 122 1,680
OuEExH| 120,000 x 18+ 122 1,440
OEE=IH| 1,786,000 *120% 2,144
Ogxtsi22ag
11,4993 +BAI 2t 17 1,564
OR=4 HINER(SE4) 38,374
OoJlzs 1,771,0002 128 21,252
Odoi= 1,771,000 x240% 4,251
OAlIRAZ 25
11,4132 %1.5+«30A1 2Hx 12 6,164
OFHZAHI 140,0002~ 1+ 122 1,680
OuEExH| 120,000 x1&* 122 1,440
OEE=IH| 1,771,0002 *120% 2,126
Ogxtsi2z2sg
11,4133 #8A1 2t 162 1,461
OFUAY SA 36,041
oJlzs
(1,801,0002 *3% )+(1,816,000& x9F ) 21,747
Od A ZAMH| 140,000& x 1+ 123 1,680
OusS2ZxH| 120,000 x 12 * 122 1,440
OS+==2(HA)=¢ 50,0002 12 600
OS2 (2I8)=< 20,0002 x 122 240
Odoi= 1,816,000 x240% 4,359
OE &=l 1,816,000 *120% 2,180
OAlIZRIZR+E
12,0062 *1.5%10A1 2tx 122 2,162
OgxtsI2zgsy
12,0063 *BA| 217 1,633

_19_




2A:

HE: S22 (BN
CHel: QIZFA2AH|(AXIR D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OTRUHAIY BAMR 012 133,960
opI==; 84,671
55 1,786,002 % 122 21,432
- 552 (6AI2H) 1,339,500+ 122 16,074
- 345 2(6AI2H)
(1,317,000 %42 )+(1,328,2502 +82 ) 15,894
- 25 2(BAIZH) 1,305, 7502 % 128 15,669
125 2(6AI2H
(1,294,500 «62 )+(1,305, 7502 x62 ) 15,602
OFUZ A 140, 0002 5% * 122 8,400
@mi=ES:] 120, 0008 5% x 122 7,200
OS4+L-2(2E)+Y
20,0002 5% * 12 1,200
Oa0I2 7,065, 25021 x240% 16,957
OYEEIHI 7,065, 25021 % 120% 8,479
OSREINDRLEH(5)
(11,6002 +BAI2Hx232 )+( 11,8802 x6AI 2++69
o) 7,053
204 T2 A | 8,565 8,235 330
ESEEEST] 8,565 8,235 330
O=ZBEY| 8,565
O72 (LB H) 175,0002 12 % 1228 2,100
OFMLR2H(H2UIIM)
250,002 12 * 128 3,000
OAIRHAEIRIZ DI HI(2HD)
165, 00024 +35/40+2% » 1284 3,465
303 mALZ 2,577,272 2,358,211 219,061
02 S0 2,577,272 2,358,211 219,061
ONIAHB(ZH) 2,577,272,0002 %1 2,577,272
CURSEC == 11,153,383 9,459,807 1,698,576
01 eizRga 9,480,688 7,832,454 1,648,234
oglarg=a 48,284,624, 0002 %% 4,345,617
owsa 48,284,624, 00021%7.278% 3,514,155
OSIF4Y 23
48,284,624, 00021%3. 164% 1,527,726
oM E 23
48,284,624, 00021%0. 193% 9,190
2 2ALLEB 1,624,362 1,619,871 4,491
CEEICE! 1,457,701
OF =23
10,804, 0002 *124*3 . 545%« 122 1,05 4,8%
OB (SE3|H, 2| L)
4,420,899 +727 2 %3, 545%+ 122 1,367,233
OJIEH=(HA)
4,420,89091 324 3. 5450+ 122 5,642

_20_




2A:

I %Q—E—%%M(%‘gxl%l’”
Cel: A HH|(HAXI2AD) (CHe: )
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O202dH s it 283
80,000,000& =13 80,000
OFIIRAEH 166,661
(OFSEES 4,758,000 *12.27% 584
OB a(SE3H, 2IIH ZE)
1,347,949,000& *12.27% 165,3%4
OJIEt=(EE) 5,563,0002%12.27% 683
M 3RA(RIAHY) 22N BEERE=3 S 48,333 7,482 40,851
OZ3RZ2Z Nt 4HEE MEXRES 32,421
O=gds 288,738,000 *4. 5% 12,994
@Rl gt 288,738,000 +3.545% 10,236
OFIIRAEH 10,236,000 %12.27% 1,256
onE=ss 288,738,000 1.75% 5,053
OtHEE 288,738,000 * 1% 2,888
O7UAY ERZ0 He3
15,906,000& 13 15,906
22ZH(#FXA) 3%4,515 389,565 4,950
Jl=2&Hl 3%4,515 389,565 4,950
201 L2 183,175 178,675 4,500
01 AtR2telbl 181,450 176,950 4,500
oget=ZHI 39,034
L VIEI-ER-T
25,0002 x40+ 12&3+0.8 9,600
OZAHN & & K= 80,0002 +8H 640
OEFZ 7 (W, 20X 4,000 +300HK 120
OdlolMEeH EH ¥ E8 F¢
1,250,0002 3% 3,750
OxA 7Y 2,160
NYHE =2
3,000 402 * 122 1,440
CAIZH =2
2,500 242+ 128 720
OZS 22Xz 2l
10,0003 5052+ 182! 9,000
OS2MAISE Jte 50,0002 *4H 200
ORsd 28 6,064
WEEX 2=
3,000 x65+4F+ 123 864
- Ol EUItECIX
300,000 4 ZS*3CH 3,600
-T2y A3ItECX
50,0003 x2S +4[H*43] 1,600
O7E ¢ & 22 2ed 89 M
50,0003 +607H*2.5 7,500
oz2g+d 123,600
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SN S™TAD
H: HYSHAH(HZXAD)
Selr J1=2ZH(#E X2 ) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OY. =3y| 123,600
TR 60,0002 x5 x 1202 36,000
=% 60,0009 x4 x3652 87,600
o2&l 18,816
Os234l 8,000 *35% x541x 1224 16,800
OolE4sx2 ZA|
8,000& * 1212 x 12 2,016
02 222 1,725 1,725 0
02222 2 MAl 1,725
O=NYs 2uHea 1,725
SIS 4302 x40 128 207
so|eHE 2,530 x5024* 128 1,518
202 OfH| 85,200 85,200
01 =Kol 75,600 75,600
0JI1=2Ye =Xt
180,000&! %352 * 1284 75,600
02 FH0iH| 9,600 9,600 0
CERIE] 9,600
OZAMALS EH0II
200,0002! * 1% 128 2,400
OHIA %8 2 H0it
200,000 +3% * 128 7,200
203 Y2 = | 126,140 125,690 450
01 D22 Y2 A 9,400 92,400 0
OJ|ZeHLLEY| 9,400
OTHE 52,470,0008!*1 4 52,470
OR7PEY 36,630,0008!*1 4 36,630
o=3% 3,300, 0008414 3,300
02 HAIIAALFA| 27,920 27,470 450
OXRAAIITE L F0I2Y 243 S 27,920
O100 X 80,0002 %100 8,000
O101~3002 N K| 60,0002 200 12,000
O301~6002 N X 45,0002 176 7,920
04 RA2IYREA| 5,820 5,820 0
ORNEILL =]
(400,00024* 1224 )+(5,0002 * 172 * 122 ) 5,820
AH2EHIOI2A3S) 25,249,588 25,605,671 A356,083
oA 25,249,588 25,566,481 306,893
101 @124t 24,211,288 24,567,621 356,333
01 24 24,211,288 24,567,621 356,333
o=3 18,128,071
OciZx 22 3,209,401




2N HEXIADL
Mz Y SAAH|(HH XKD
chel: QIE2IHI(0I123S) CEEREE
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
FEHM(DESHE A=)
109, 185,000+ 1H 109, 185
SRHT(HDSH A=ZH)
112,906,000 x2H 225,812
2 (A2 A=ZH)
103,343,000 x5H 516,715
fe(dua2s A=ZH)
89,370,000& x26H 2,323,620
pSEs=D] Pals] 851,712,000 *4% 34,069
O630l5t 2F& 14,918,670
B3 (275 E)
4,303,900 149 122 +0 .8 6,156,299
72135 2)
3,082,300& x 153 *12&x0.8 4,527,283
8=z (45 =2)
1,982,000& x 118 x12& 0.8 2,245,210
9=2(3s=) 1,748,300& *81H*12& 0.8 1,359,479
- M RIHEI 15,759,960, 000! 4% 630,399
(OIS, 1,945,198
OURTL +¢ 270, 168
1SR A= Mx78%)
6,480, 3853 x78%*4 . 1%+2H x12& 4,974
-8R (=285 =)
4,340, 7002 %4 1%+60 » 12& 128,138
-llR(722552)
3,830,300 *4. 1%*x60H « 122 113,071
- 738UR(8=1382)
2,766, 7003 *4 . 1%+ 10H = 122 13,613
- M RIHE| 259,796,000 4% 10,392
OF2ag 15,759,960, 000241/ 12 1,313,330
OdZE a2 361,680
- 25E 0| A 130,000& 120~ 12& 187,200
- 208 01 A~25E 0] B
110,0003 *18H x 122 23,760
- 15E 0| A~20E 0| BF
80,000& x5« 12& 49,920
- 100l A~15E 0| B
60,000& x50~ 12& 36,000
- 50| A~10E 0| B
50,0002 =108 = 128 64,800
(©P)P:|E=FSES=y 653,820
OEE 256,320
- B X 40,0003 *200H * 12& 96,000
JIERE 20,0003 x154H 122 36,960
=MAHA 60,0002 *153% * 128 110, 160
PO NESIE 100, 000211124 x 122! 13,200
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2A:

S HHSSAY (B
el oledHl(OIRES) (e &
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OS0IEa 4y 397,500
SOIE 1242
1,500, 0008 2024 * 122 360,000
EXES0IEE 3N
2,500,000 5 +3& 37,500
os+224y 254,043
ofgaesry 9,240
HE 40,0002 13 128 6,240
=t 50,0002 %52 * 122 3,000
OgRUd=g 200,000& x11F 128 26,400
OS4ei4g 218,403
JledEsy 95,400
52014 50,0002 62 * 122 3,600
67 30,0002 x85E «12& 30,600
-8=0lat 20,0003 65« 128 15,600
“DIAL FAHBHOIA) DHArS
30,0002 %100 * 128 36,000
~AHIDI AL T AHREOIA) JhArE
20,0002 +x30& ~ 128 7,200
-2F7Z 014 10,0008+ 102 * 128 1,200
-2&8= Olat 20,0003 x5« 128 1,200
o 2Rry 250,002 1% * 128 3,000
2R rYy 10,920
-1=0/et 70,0003 1 * 122 840
-0/ 424 0] 2t
90,0002 %124 * 122 1,080
-2 0/ A3 0] 2
150,000& x 1+ 123 1,800
-380l& 200,000 x3E 128 7,200
SanQ4g 109,083
~Qlpe R 50,0002 9 * 122 5,400
-ABI =X PRy
70,0002 <84+ 128 70,560
~SARDAG JAZ(AFSISX)
30,0002 x60E «12& 21,600
SSAEDLG (AR HZ )
96,0203 x10B~ 128 11,523
OFAUZ AL 140, 0002 #4872 * 128 818,160
OZYEEII|
15,759,960,000% *1/12+60%*23] 1,575,9%
OHIIE 4| 550,000,000& 14 550,000
OAlRtQIZR4g ZS22
30,000,000& x14 30,000
oOZYBRY &g 50,0002 10 * 128 6,000
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SN SN

3 %Q—E—%%M(ngl%ﬂ”
Eel: el 2AHI(0123S) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ=2LHI tIs AlZe2f=g
250,000,000 *1& 250,000
204 e A 1,038,300 988,860 49,440
02 Mz22h] 1,038,300 988,860 49,440
(OFSF= N 1,038,300
(OR=E) 650,0003 1 *12& 7,800
OR7&¥d 500,000& x2E12& 12,000
O4= 400,000 x5 *12& 24,000
Os53 250,000 «26H * 12& 78,000
O6= 175,0002 x 1452+ 12 304,500
org 165,000 x140E « 12 277,200
O8~9= 165,000 180 * 12 334,800
23H0A3S) 70,377 64,300 6.077
Jl=23H] 70,377 64,300 6,077
201 er23| n.2r7 6,400 4,877
01 AtR2t2|HI 6,760 6,400 360
Ot A AR A WFH| 3,000
OZelH=A WE 100,000& *30& 3,000
olBAY 9IS 4o
200,000& x1H~12& 2,400
ogreEA2H EF(HNE S) 7Y
1,000,000 %14 1,000
otetatg oM gsl 3ol Jtedl
30,0002« 128 360
02 S52g4l 4,517 0 4,517
O3 HAXNSRH WEEZSEE 4,517
o=2s=% 19 90,4203 +11H 1.1 1,095
Oo=2s=% 5 45,2102 +6E*1.1 29
o259 3 27,1203 %1041 1 3,103
o=z 1A 9,040 x2&E*1 1 20
204 2Rt AH 59,100 57,900 1,200
01 MG HI A HH] 59,100 57,900 1,200
OMHZHIR A 59,100
ox3d 975,000 «1H* 122 11,700
osx3d 900,000 «1H =122 10,800
Oo=g 350,000 x3H 12 12,600
O52 (4. 1t&) 100,000& x20E < 12& 24,000
Wees(HEX2 ) 10,000,000 0 10,000,000
LIS HHKIE 10,000,000 0 10,000,000
QEAE JISEES 10,000,000 0 10,000,000
J1sdEs 10,000,000 0 10,000,000
UIPIETSE== 10,000,000 0 10,000,000
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